

12/14/2023

Page 1 of 1

**Vendor Ranking** 

08231212 Letting:

December 12, 2023 02:30

Call Order: 005

E8U97 Contract:

PM

Turnpike

Counties: SEMINOLE

Fed Aid No: N/A

District:

Contract Time: 90 CALENDAR DAYS

**Project(s):** 45392615201 (\*)

Contract Desc: SR-417 SEMINOLE EXPRESSWAY AET LITE CONVERSION

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALEXANDER DESIGN + BUILD, LLC	Responsive	Winning bid	\$168,739.20	100.00% Intent
2	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$262,400.96	155.51%
3	GLACIER CONTRACTING INC	Responsive	Non-Winning Bid	\$298,798.00	177.08%
4	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$347,835.00	206.14%
5	SMILEY INTERIOR RENOVATIONS CO	Responsive	Non-Winning Bid	\$479,634.00	284.25%
6	AUM CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$548,950.00	325.32%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 19, 2023 AT 4:00 PM





#### **Tabulation of Bids**

Page 1 of 7

Letting:08231212December 12, 2023Call Order:005Contract:E8U97District:TurnpikeCounties:SEMINOLEFed Aid No: N/A

Contract Time: 90 CALENDAR DAYS Project(s): 45392615201 (\*)

Contract Descr: SR-417 SEMINOLE EXPRESSWAY AET LITE CONVERSION

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to install and remove signage and thermoplastic for the All Electronic Tolling (AET) conversion at the Seminole Expressway (SR-417) from Milepost (MP) 38.0 to 55.0.

#### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

Line No / Item ID Alternate	e Quantity Units	(1) ALEXANDE BUILD		(2) TUF INFRASTR	UCTURE		CONTRACTING NC
() indicates item is bid as Lump Sum	Omto	Unit Price	Ext Amount	PARTNEF Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0009	(TRAFFIC CON	ITROL DEVICES O	CONTROL (MH				
0005 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	54,000.00000	54,000.00	32,250.00000	32,250.00	57,462.00000	57,462.00
0010 0102 14 TRAFFIC CONTROL OFFICER	120.000 HR	0.01000	1.20	150.00000	18,000.00	60.00000	7,200.00
0015 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	1.000 AS	550.00000	550.00	335.81000	335.81	306.00000	306.00
0020 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF	33.000 AS	1,770.00000	58,410.00	3,178.94000	104,905.02	2,900.00000	95,700.00
0025 0700 1 60 SINGLE POST SIGN, REMOVE	1.000 AS	250.00000	250.00	300.00000	300.00	250.00000	250.00
0030 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF	1.000 AS	7,250.00000	7,250.00	10,195.53000	10,195.53	8,905.00000	8,905.00



Page 2 of 7

## Florida Department of Transportation



# **Tabulation of Bids**

etting:	08231212	December 12, 2023	Call Order: 005	Contract: E8U97
tuna.	00231212	December 17, 7075	Call Order: 000	Contract. E009/

<b>Letting</b> : 08231212	December 12,	2023 <b>Ca</b>	II Order: 005		Contract:	E8U97	
Line No / Item ID Alterna Item Description	te Quantity Units	(1) ALEXANDI BUILD		(2) TUI INFRASTR	UCTURE	• •	CONTRACTING NC
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	PARTNEI Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0009	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
0035 0700 2 60	8.000	550.00000	4,400.00	1,500.00000	12,000.00	1,200.00000	9,600.00
MULTI- POST SIGN, REMOVE	AS						
0040 0700 3101	11.000	175.00000	1,925.00	469.76000	5,167.36	281.00000	3,091.00
SIGN PANEL, FURNISH & INSTALI GROUND MOUNT, UP TO 12 SF	L EA						
0045 0700 3601	28.000	100.00000	2,800.00	60.00000	1,680.00	75.00000	2,100.00
SIGN PANEL, REMOVE, UP TO 12	SF EA						
0050 0700 3605	26.000	200.00000	5,200.00	450.00000	11,700.00	702.00000	18,252.00
SIGN PANEL, REMOVE, 51-100 SF	EA EA						
0055 0700 3606	6.000	250.00000	1,500.00	1,725.00000	10,350.00	1,702.00000	10,212.00
SIGN PANEL, REMOVE, 101-200 S	SF EA						
0060 0700 3607	6.000	300.00000	1,800.00	1,725.00000	10,350.00	2,230.00000	13,380.00
SIGN PANEL, REMOVE, 201-300 S	SF EA						
0065 0705 11 1	257.000	54.00000	13,878.00	86.42000	22,209.94	145.00000	37,265.00
DELINEATOR, FLEXIBLE TUBULA	R EA						
0070 0711 11160	25.000	350.00000	8,750.00	375.00000	9,375.00	450.00000	11,250.00
THERMOPLASTIC, STANDARD, W MESSAGE OR SYMBOL	/HITE, EA						
0075 0711 11170	3.000	300.00000	900.00	375.00000	1,125.00	250.00000	750.00
THERMOPLASTIC, STANDARD, W ARROW	/HITE, EA						





# **Tabulation of Bids**

Page 3 of 7

Letting:	08231212	December 12,	2023 <b>Ca</b>	II Order: 005		Contract:	E8U97	
	o / Item ID Altern	ate Quantity Units	(1) ALEXAND BUILD		(2) TU INFRASTE	RUCTURE	• •	CONTRACTING NC
	ates item is bid as Lump Su		Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0009	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
THERMOR	0711 17 1 PLASTIC, REMOVE EXI PLASTIC PAVEMENT SS- SURFACE TO REMA		5.00000	4,225.00	13.50000	11,407.50	5.00000	4,225.00
	E700 30 2 IEL OVERLAY, MULTI F	29.000 POST SF	100.00000	2,900.00	36.20000	1,049.80	650.00000	18,850.00
	09 TRAFFIC CONTROL VICES CONTROL (MH)		ı	\$168,739.20 <sup>1</sup>		\$262,400.96		\$298,798.00
	Contract	Grand Totals:		\$168,739.20		\$262,400.96		298,798.00



Page 4 of 7

## Florida Department of Transportation



# **Tabulation of Bids**

Letting	<b>g:</b> 08	8231212	December 12,	2023 Ca	II Order: 005		Contract:	E8U97	
	No / Item ID Description	Alternate	Quantity Units	(4) ACME BAR	RRICADES LC	(5) SMILEY RENOVAT		(6) AUM CONS	TRUCTION INC.
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0009	(TRAFFIC CO	NTROL DEVICES	CONTROL (MH				
0005 MAINTE	0102 1 ENANCE OF T	RAFFIC	(1.000) DA (LS)	50,000.00000	50,000.00	196,202.00000	196,202.00	100,000.00000	100,000.00
0010 TRAFFI	0102 14 C CONTROL (	OFFICER	120.000 HR	90.00000	10,800.00	100.00000	12,000.00	80.00000	9,600.00
	0700 1 11 POST SIGN, , UP TO 12 SI	F&I GROUND	1.000 AS	600.00000	600.00	1,550.00000	1,550.00	1,500.00000	1,500.00
	0700 1 13 POST SIGN, , 21-30 SF	F&I GROUND	33.000 AS	3,500.00000	115,500.00	2,501.00000	82,533.00	3,800.00000	125,400.00
0025 SINGLE	0700 160 POST SIGN,	REMOVE	1.000 AS	150.00000	150.00	900.00000	900.00	500.00000	500.00
	0700 2 15 POST SIGN, I 7, 51-100 SF	F&I GROUND	1.000 AS	12,000.00000	12,000.00	10,000.00000	10,000.00	15,000.00000	15,000.00
0035 MULTI-	0700 260 POST SIGN, I	REMOVE	8.000 AS	2,000.00000	16,000.00	1,614.00000	12,912.00	2,500.00000	20,000.00
	0700 3101 ANEL, FURNIS ID MOUNT, UI	SH & INSTALL P TO 12 SF	11.000 EA	500.00000	5,500.00	1,550.00000	17,050.00	1,000.00000	11,000.00
0045 SIGN PA	0700 3601 ANEL, REMO\	/E, UP TO 12 \$	28.000 SF EA	200.00000	5,600.00	450.00000	12,600.00	750.00000	21,000.00



Page 5 of 7

## Florida Department of Transportation



# **Tabulation of Bids**

Letting	<b>g:</b> 08	8231212	December 12,	2023 <b>Ca</b>	II Order: 005		Contract:	E8U97	
	No / Item ID Description	Alternate	Quantity Units	(4) ACME BAR	RRICADES LC	(5) SMILEY RENOVAT		(6) AUM CONS	TRUCTION INC.
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0009	(TRAFFIC CON	ITROL DEVICES (	CONTROL (MH				
0050 SIGN PA	0700 3605 ANEL, REMO\	/E, 51-100 SF	26.000 EA	1,500.00000	39,000.00	850.00000	22,100.00	2,750.00000	71,500.00
0055 SIGN PA	0700 3606 ANEL, REMO\	/E, 101 <b>-</b> 200 SF	6.000 EA	3,500.00000	21,000.00	950.00000	5,700.00	3,500.00000	21,000.00
0060 SIGN PA	0700 3607 ANEL, REMO\	/E, 201 <b>-</b> 300 SF	6.000 EA	4,000.00000	24,000.00	1,900.00000	11,400.00	4,000.00000	24,000.00
0065 DELINE	0705 11 1 ATOR, FLEXI	BLE TUBULAR	257.000 EA	100.00000	25,700.00	100.00000	25,700.00	350.00000	89,950.00
	0711 11160 OPLASTIC, ST GE OR SYMB	TANDARD, WH OL	25.000 IITE, EA	250.00000	6,250.00	291.00000	7,275.00	350.00000	8,750.00
0075 THERM ARROW		TANDARD, WH	3.000 IITE, EA	150.00000	450.00	239.00000	717.00	500.00000	1,500.00
<b>THERM</b>	OPLASTIC PA	EMOVE EXIST AVEMENT EE TO REMAIN	845,000 ING SF	15.00000	12,675.00	31.00000	26,195.00	30.00000	25,350.00
0085 SIGN PA	E700 30 2 ANEL OVERLA	AY, MULTI POS	29.000 ST SF	90.00000	2,610.00	1,200.00000	34,800.00	100.00000	2,900.00





## **Tabulation of Bids**

Page 6 of 7

Letting:	08231212	December 12,	2023 <b>C</b>	all Order: 005		Contract:	E8U97	
Line No / Iter		e Quantity Units	(4) ACME BA	RRICADES LC		Y INTERIOR TIONS CO	(6) AUM CON	ISTRUCTION INC.
•	m is bid as Lump Sum	<b></b>	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	SECTION: 0009 (TRAFFIC CONTROL DEVICES CONTROL (MH							
	AFFIC CONTROL S	ection Totals:		\$347,835.00		\$479,634.00		\$548,950.00

Contract Grand Totals:	\$347,835.00	\$479,634.00	548,950.00
------------------------	--------------	--------------	------------



12/14/2023

### **Tabulation of Bids**

Page 7 of 7

Letting: 08231212 Decem

December 12, 2023

Call Order: 005

Contract:

E8U97

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.